1= SetDirectory[" /wwy/user /fdahl /paper s/Conj ugation/"1;
<< kappaLi b. m
<< Petrov. m

KappaLib v1.1

Petrov routine | oaded

m Class V: (11 2 bar(2))

000100
000010
m[4]—B=000001'
100000/
010000
001000
| ambdal 0 0 0 0 0
0 | ambda2 0 0 0 0
0 0 sigmal taul 1 0 )
nisl= V= 0 0 -taul sigmal 0 1 ’
0 0 0 0 sigml taul
0 0 0 0 -taul sigmal

ine:= Ei genval ues [V]

outs)= {l anmbdal, | anbda2, signal -itaul, sigmal-itaul, sigmal+itaul, signmal+itaul}
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ing:= Ei genval ues [W

oufgl= {-1, -1, 1, 1, epsl, eps2}
nEl= (* W& know that NN shoul d have signature (3,3) and epsl < eps2. =)

o= W= W/. {epsl - -1, eps2 » 1};
W// Matri xForm
Ei genval ues [W

Out[11]//MatrixForm=
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ouiz= {-1, -1, -1, 1, 1, 1}



2| ClassV.nb

3= (* Pernutation 6,6 with |eading B *)
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m Check that Sis in set mathcal(S)
in[14]:= Transpose[S].B. S =W

ou[14]= True

= Compute result

5= res = S. V.l nverse[S];
res // Matri xForm

Out[16]//MatrixForm=

sigmal -taul 0 0 0 0
taul sigmal 0 0 0 0
| ambdal | ambda2 | ambdal | ambda2
0 o = 0 0 T T
0 1 0 sigml taul 0
1 0 0 -taul sigmal 0
| ambdal | ambda2 | ambdal | ambda2
0 0 e 0 0 y t
In[17)= Petrov[res]
Out[17]//MatrixForm=
0 0 0 0 -taul sigml
0 0 0 0 sigml taul
0 0 2 (-lanbdal +|anbda2) Lombdal ] anboe2 0 0
0 0 Lanbdat ] anbda? > (-lanbdal + | anbda2) 0 0
-taul signmal 0 0 0 1
sigmal taul 0 0 1 0

= Export notebook as .pdf

inf18:= Not ebookPri nt [Sel ect edNot ebook [], " /www/user /f dahl /paper s/Conj ugati on/not ebooks/d assV. pdf "



